MathVine - Pre-Algebra

Adding Integers

Add.

1) 10+ =5

5 1+ -4

9) —24+5

13) —7+6

2) 44 -5

6) 8+ —3

10) -3 +4

14) 2 4 —7

Name

Date Period
3) 6+ —10 4) —3+2
7) 54+ —9 8 —6+1
11) —1 4+ 10 12) 10 + —9
15) -9+ 2 16) —5 + 2



MathVine - Pre-Algebra

Adding Integers

Add.
1) 10 + -5
| Answer: 5 ]
5 1+ —4
( Answer:
-3
.
9) —2+5
- .
Answer: 3 ]
k. -

2) 4+ —5
Answer:
—1
6) 8+ —3
{ Answer: 5 ]
10) —3+4
L Answer: 1 J

Name
Date Period
3) 6+ —10 4) —3+ 2
Answer: Answer:
—4 —1
7) 5+ -9 8 —6+1
| Answer: Answer:
—4 —5
11) —1+4+ 10 12) 10 + —9
[ Answer: 9 ) [ Answer: 1 1




13) —7+6 14) 2+ -7 15) —9+2

16) —5+2

Answer:
-3

' /
Answer: Answer: Answer:
—1 —9 —7
~ - 7
MathVine - Pre-Algebra Name
Adding Integers Date

Period

Solution Steps

1) 10+ —5
Plot 10 on a number line
] I I I I I ¢ >
4 5 6 7 8 9 10 11
Because the second number is negative, we move 5 to the Left
—+—+¢ I l l l ¢ >
4 5 6 7 8 9 10 11
2) 44 -5
Plot 4 on a number line
] I I I I I ¢ >
2 -1 0 1 2 3 4 5
Because the second number is negative, we move 5 to the Left
—+—+¢ I l l l ¢ >
2 -1 0 1 2 3 4 5
3) 6+ —10

Plot 6 on a number line

4! | | | | [
A I I I I 1

5 4 3 -2 1 0 1

>
4 5 6 7

bttt

5 4 3 2 4 0 1

—t——

I
3
egative, we move 10 to the Left
3 4 5 6 7

I
2
Because the second number is n
|
.
2



4) —3+2
Plot —3 on a number line

L ® I I >
-4 -3 2 -1 0
Because the second number is positive, we move 2 to the Right
“ @ | ) —
-4 -3 -2 -1 0
5 1+ —4
Plot 1 on a number line
i I I I I ® >
-4 -3 -2 -1 0 1 2
Because the second number is negative, we move 4 to the Left
i < l l l ® —
-4 -3 -2 -1 0 1 2
6) 84+ —3

Plot 8 on a number line
4 | | | ‘ [
< I I I |4
5 6 7 8 9

4
N

I
4
Because the second number is negative, we move 3 to the Left
| < : : ¢ >
4 5 6 7 8 9
7) 54+ -9
Plot 5 on a number line

4! | | | |
AR I I I I

5 4 3 2 -

1

I —t—F—e—1
0 2 3 4 5 6

Because the second number is negative, we move 9 to the Left
0o 1 2

«——+¢ | | | I f———
5 4 3 2 - 3 4 5 6
8) —6+1
Plot —6 on a number line
< ¢ | >

Because the second number is positive, we move 1 to the Right
® ) =
-7 -6 -5 -4

|
I
7 6 5 4
|
I

4
N



9 —2+5
Plot —2 on a number line

i ¢ I I I i I >
-3 2 -1 0 1 2 3 4
Because the second number is positive, we move 5 to the Right
“ ¢ l l l I ——
-3 -2 -1 0 1 2 3 4
10) —3+4
Plot —3 on a number line
L ® I I I I >
-4 -3 -2 -1 0 1 2
Because the second number is positive, we move 4 to the Right
i ¢ | | : » -
-4 -3 -2 -1 0 1 2
1) —1+410
Plot —1 on a number line

“—+———t—F—"1—
2 4 0 1 2 3 4

7 8 9 10

—
5 6

Because the second number is positive, we move 10 to the Right
5 6

—+—r—tt b —1
2 1 0 1 2 3 4 7 8 9 10
12) 10 + —9
Plot 10 on a number line
1 | | | | | | | I ——1
o 1 2 3 4 5 6 7 8 9 10 11
Because the second number is negative, we move 9 to the Left
“——¢— | | | | | | ——1
0 1 2 3 4 5 6 7 8 9 10 11
13) —7+4+6
Plot —7 on a number line
——=0 I I I I I I I

84 7 6 5 4 3 2 A 0
Because the second number is positive, we move 6 to the Right

‘_|—‘ : | | | | >—H

8 7 -6 5 4 3 2 0




14) 2+ -7

Plot 2 on a number line

i | I I I I I I *—
6 5 4 -3 2 4 0 1 2 3

Because the second number is negative, we move 7 to the Left

15) —942
Plot —9 on a number line
i ¢ | | —
-10 -9 -8 -7 -6
Because the second number is positive, we move 2 to the Right
“ @ | ) —
-10 -9 -8 -7 -6
16) —5+2
Plot —5 on a number line
< ® I I >

Because the second number is positive, we move 2 to the Right
¢ : ) —
6 -5 -4 -3 2

4
N

|
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6 -5 -4 3 2
|
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